課題1.6.2

古川俊之


t=0.01:0.01:5;

x=3*cos(2*pi*30*t)+2*sin(2*pi*20*t);

s=0.3*100+1;

n=t;

n1=0.5*100+1;

n2=1.5*100+1;

j=length(t);

w=zeros(1,j);

%

for k=1:s

w(1,k+n1)=(1/2)*(1-cos((pi*(k+n1-n1))/s));

end
for l=1:n2-2*s-n1

w(1,l+n1+s)=1;

num=l+n1+s;

end

%keyboard%

for m=1:s

   w(1,num+m)=(1/2)*(1-cos(((pi*(num+m-n2+s))/s+pi)));

end

%keyboard

a=x.*w;

figure

subplot(2,2,1);plot(1/100:1/100:500/100,x);

title('入力波形')

xlabel('time/s')

subplot(2,2,2);plot(1/100:1/100:500/100,w);

title('60%cosine taper')

xlabel('time/s')

ylim([-0.5 1.5])

subplot(2,2,3);plot(1/100:1/100:500/100,a);

title('60%cosine taperを掛けたもの')

xlabel('time/s')

xlim([0 2])

subplot(2,2,4);plot((1-1)/5:1/5:(500-1)/5,abs(fft(a)));

title('スペクトル')

xlim([0 50])

xlabel('frequency/Hz')
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